Basic Flavours

On the Spectrum and ZX81 functions such
as TAB, LEN, CHRS can be used without
brackets, <o that TAB(30), for example, can
be written TAB 30

None of these commands is available on the
Spectrum or ZXB1; their equivalents in
Sinclair BASIC zre:

LEFTS(ZSN)  replaceby ZS(TON)
RIGHTS(ZS.N)  replace by ZS(LEN(ZS )=
\ N+1T0)
MIDS(ZS,P.N)  replace by ZS(PTO
P+N-1)

When N=" in a MIDS() command then the
Sinclair equivalent is very much s mpler
than the above:

MIDS(Z S,R1) replace by ZS(P)

This is not available an the Spectrum,

ZX81, Commodore 64, Vic 20, and Oric-1,

but you can writ2 a sub-routine to replace it.

Suppose tnat a program ling is:

20 LET P=INSTR(AS,“FALL")

Replace it by:

20 LET XS=AS: LET Z§="FALL":GOSUB

9930;LET P=U

9929 STOP

9930 LET U=0:LET X=LEN(XS): LET
2=LEN(ZS)

9940 FOR W=1T0 X-Z+1

9950 |F MIDS(XS,W,2)=ZS THEN LET U=W

9960 IF U=W THEN LET W=X-Z+1

9970 NEXT W

9980 RETURN

On the Spectrum and ZXB1 replacs line 9950

by:

9950 IF X$(W TO W+Z-1)=ZS THEN LET
U=W

50 PRINT “START"

60 FOR X = 1 TO 5000
70 NEXT X

80 PRINT “STOP"

90 END

B Loops 3 What result will be printed if the
following program is run and you type in the
number 60 when asked?

10 PRINT “THINK OF A NUMBER AND TYPEIT IN®
20INPUT N

30LETA =100

40FORL=1TON

50LETA=A+1

60 NEXT L

70 PRINT “THE VALUE OF A IS NOW ™A

80 END

B Loops 4 What will happen if this program is
run?
10 PRINT “I LIKE BASIC”

20G0T0 10
30 END

B Loops 5 What will you see on the screen if this
program is run?

Basic Programming w

10FORQ=1TC 15

20 PRINT “I'M FEELING LOOPY”
30 NEXT Q

40 END

B Read-Data 1 What result will be printed?

10 READ X

20 READ Y

30 READ Z

40 PRINT “WE'RE TESTING THE 'READ'
STATEMENT"

50 DATA 50,100,20

60 PRINT X +Y +2

B Read-Data 2 What will be printed on the
screen if this program is run?

100FORL=1TO 10

110 READ X

120 PRINT “X =",X

130 NEXT L

140 DATA 12,3,5,7,1113,17.19,23

Answers in next issue

Variables

O@XsX s @OO® X

Arithmetic 1

10LETB=6

20PRINTB

Arithmetic 2

1LETA=3

20LETB=7

J0LETC=9

40LETD=A+B+C

50PRINTD

Arithmetic 3

17

Arithmetic 4

25

25

Comparisons 1

5

Comparisons 2

601 (integers are assumed)

Comparisons 3

10000

Print 1

PRINT “THE VALUEOF T 18T

Print 2

640 PRINT *SCRRY, BUT YOUR SCORE OF " S," ISTQO LOW"
Print 3

This was a deliberate mistake.

The semi-colon at the end of the ine will cause a syntax error at
rur time, The program should read:

200 LET AS="THE HOME COMPUTER COURSE?"
210 LET BS="HOW DO YOU LIKE"

220 PRINT BSAS

And the result would then have been:

HCW DO YOU LIKE THE HOME COMPUTER COURSE?

Input 1

6

Input 2

PLEASE TYPE YOUR NAME

HI{YOUR NAME) I'M YOUR COMPUTER

‘ Answers To 'Exercises’ On Pages 136-137

Mote that the answers to ‘Variables' will diffe- for some
machines, whizh do not allow more than one alphabetic
character (i.e., no numeric suffix)
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